EE 321
Fall 2002

Homework #8

Solutions



4.1(,

vge Vg

Vo= Tge ™V + Ver

, , Va

O g

y".h bt ceyr ' ’o&ﬂt

v (v) 0.6 o. ¥ 0.7 1 o. 7z 0. %y
BE |
Wl

Tatecips (1) 0,20 IR%Zs 321 Y, v 7.1 ¢
Sl pe (/»/I/V) .00 0.0y 0.031 o.0Y T 0?0}1,
Sec next paga v plir
: J ) = 33.3 t‘[\/

- — = - <
Yo = S/),p(, 3X /o U

Ve => Vp =Y. T =(33.3l./\.)(3,,.,9~): 100V

Vo> —

I,
Yo YA _ 109 333K
T¢ 30 mh




IS=1le-15;
VT=25e-3;
vCE=0:1:15;
VA = 100;
vbe = [0.65;0.7;0.72;0.73;0.74];
for ii=1:length(vbe)
iC(ii,:) = ISxexp(vbe(ii)/VT)*(1+vCE/VA);
end
plot (vCE,iC*1000)
legend (’v_{BE}=0.65V’,’v_{BE}=0.70V’,’v_{BE}=0.72V’,’v_{BE}=0.73V’,’v_{BE}=0.74V’)
xlabel (’v_{CE} (V)’,’FontSize’,16)
ylabel(’i_{C} (mA)’,’FontSize’,16)
grid
title(’i_C vs v_{CE} for different values of v_{BE}’,’FontSize’,18);
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